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A Multivariate Statistical Analysis
—An implementation with Python—
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March 2025

This paper provides Python implementations of various methods for statistical
multivariate analysis for beginners in statistics and computer programming. You can
learn how to implement the methods in Python by examining the Python programs
and results. In addition, some comments on the Python output results are included
when there are points to be noted, which should be used as a reference when

interpreting the results of the analysis.
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o [EFEHT
(WEE~>Ya>T—9€y b RAVEEIEDHTORILIE
*Python DR 7 ') b (7 74ILDFHAAH)

# XFATHED=O, 74> FORTREFIETE 7477 ) 2HmHrE
import japanize_matplotlib
%matplotlib inline

# pandas (/XY &XR) HFHZRMAAT, pd EWVWSZEITERT S
import pandas as pd

# excel ICEHL 7-T — X DFAAH
file_path = 'room.xlIsx'

# Pandas @ ExcelFile ®BE# Tlroomxlsx]IC# 5> — b & HFZAHAD
sheet_names = pd.ExcelFile(file_path).sheet_names

#Excel 77 ANICHZEY— b DESELEIZENTS
print("Excel 7 7 A1 LiZH B — b:")
for i, sheet_name in enumerate(sheet_names):

print(i, sheet_name)

XEEY>YarnT—9t v b Troomxisxy 1d. TEAKHFZEARNRE MHRE 2K
WS TirstEERE ndv>a— FRT— 9D LANFIETH 5,
http://www.tokyo-tosho.co.jp/books/ISBNG78-4-489-02122-0.html
(§o>a—FRAT—9-> TE | &) > "Ry > room.csvy)

*EAHRER

Excel 77 A 2B — | : (7K R Exce] 7710 b2 OB S LR
¥Python TIZFSIET0, 0 SBBINS
O Sheet |

*Python ® 27 7+ (BER)

# T—27L—LDIHAH ——

data = pd.read_excel(file_path, sheet_ name=sheet names[1])
data




*HAKR
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140 rows x 4 columns

*Python W27 ') 7+ (I —FEBNDEH)
::Tli\ tt?)‘éa’gﬁ\«\ (A) ’2 I'OJ\ ttﬁﬂ’gﬁ\/\(B) t& I’|J Z&{E{bTéo
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e ATE EHEH
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13

# scikit-learn @ LabelEncoder # L3
from sklearn.preprocessing import LabelEncoder

# ] ofEl (£ -—ZEHBE~DEHR)

a = LabelEncoder()

datal'¥r '] = a.fit_transform(datal3Fx'])

data




*HAKR

e wE AT BEH

0 1 | 68000 19 12
1 1 || 68000 19 12
2 1 69000 19 14
3 1 |§ 70000 19 14
4 1 § 72000 15 9

135 45000 40 8

136 45000 54 28
137 48000 42 13
138 48000 42 13

139 50000 4 5

140 rows x 4 columns

(2) EBv>YarF—9ty FOBEBE Y EEROESR
* Python ® X7 ') 7+ (A8E)

data.corr()

*HAKR

S xE KIS EFH
IFE  1.000000 -0.075279 0.178161 0.086390
K& -0.075279 1.000000 0.841193 0.245452
AXEE 0178161 0.841193 1.000000 0.515945

SEEFER 0086390 0.245452 0.515945 1.000000

*Python @27 ') 7’k (E—Fr=wv?)

import matplotlib.pyplot as plt
import seaborn as sns

sns.heatmap(data.corr(), vmin=-1, vmax=1, annot=True)
plt.show()




*HAKR
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*Python ® 7Y 7+ (BHK)
data.plot.scatter(x="K & &', y="R&")
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(3) Eg~>yvarT—9€y FORBAITDERR
*Python X7 Y7+ (BRERSH : SHEAXEK : MEOKEY)

# statsmodel &4 ¥R —k
import statsmodels.formula.api as smf

=l 2= 1202 AREL ~ 2 ) 2 TR H
formula = '"RE ~ A= { EFRNIBE N HHBAERK ~ EEEMSIORATE
modell M(formula data=data)
resultl = modell.fit()

RNZFEERE

print(resultl.summarEE ??
l HRNETR

)
*HEARR
% | : OLS Regression Results
LDep. Variable: K& R-squared: 0.708
Model: OLS Adj. R-squared: 0.705
Method: Least Squares  F-statistic: 334.0
Date: Fri, 16 Feb 2024  Prob (F-statistic): |.14e-38 (& AH#ER] OLS #ED
Time: 08:00:18 Log-Likelihood: -1493.4 BAMRER
No. Observations: 140 AIC: 2991.
Df Residuals: 138 BIC: 29917.
Df Model: |
Covariance Type: nonrobust

coef std err t P>|t| [0.025 0.975]

__________________________________________________________ R — [ A#ER]

T 7"; —4 ‘:Dk
Intercept  4.579e+04 3179.976  14.400  0.000 3.95e+04  5.21e+04 ELHERR
RET 2075.1455 113.553 18.275 0.000 1850.617 2299.674 |
Omnibus: 6.374  Durbin-Watson: 1.308 1
Prob(Omnibus): 0.041  Jarque-Bera (JB): 6.69 | (i A RER R RARE
Skew: 0.352 Prob(JB): 0.0352 BRI AIE
Kurtosis: 3.808 Cond. No. 101. |
Notes:

[1] Standard Errors assume that the covariance matrix of the errors is correctly specified.

SEE, BE#EE "RE,). SAZEHET "KET, £ LT, Python ® "Statsmodels)
® OLS (Ordinary Least Squares) %A L TEEROIN T >/, TDER. ROL D
NIRRT (N S :R

y=4.579e+04 + 2075.15* K<
ElRREIE. VIR 9 4.579e+04 = 4% 2075.15 ThH - 1=, F 1= R ERE(R-squared)

7



£ 0.7l Th-7., MAT. FH¥E (F-stat: 334.0, Prob: |.14e-38) #»"+5IZKEL.,
BEHER (p-value) b+2IT/NIVD T ET LR L THRZELETHS LTS 5,

*Python X7 Y7+ (BREESH : SHEAXE : £FH)

formula ="'RE ~ EEH
model2 = smf.ols(formula, data=data)
result?2 = model2.fit()

print(result2.summary())

* AR
OLS Regression Results

Dep. Variable: KRE  R-sguared: 0.060
Model: OLS Adj. R-squared: 9.053
Method: Least Squares F-statistic: 8.847
Date: Tue, 19 Dec 2023 Prob (F-statistic): 0.00347
Time: 01:47:48 Log-Likelihood: -1575.1
No. Observations: 140 AIC: 3154.
Df Residuals: 138 BIC: 3160.
Df Model: 1

Covariance Type: nonrobust

coef std err t P>t [0.025 0.975]

Intercept 9.347e+04 3164.758 29.533 0.000 8.72e+04 9.97e+04
REFEH 852.4835 286.608 2.974 0.003 285.773 1419.194
Omnibus: 4.156 Durbin-Watson: 0.093
Prob(Omnibus): ©.125 Jarque-Bera (JB): 4.187
Skew: ©.415 Prob(JB): 0123
Kurtosis: 2.829 Cond. No. 22.2

SEIIE. BOERE "RE, HPELE: "E£FE v LT, BEBROTEIT-> &R,
y=9.347e+04 + 852.5 * HEH
LW ERKE SN,

*Python X7 7+ (BREEHH : SHEAZXE 1 KT)
RS DX 2MEOENERTHZL V) 2L TH5, thEABEAV(A)%Z 0 L L., tEE®Y
EWB)% | L EEWLDTT B,

formula ='|RE ~ £EHK

model3 = smf.ols(formula, data=data)

result3 = model3.fit()

print(result3.summary())




*HAKR

OLS Regression Results

Dep. Variable: X& R-sguared: 9,006
Model: OLS Adj. R-squared: -9.002
Method: Least Squares F-statistic: 0.7865
Date: Tue, 19 Dec 2023 Prob (F-statistic): 0.377
Time: 01:50:02 Log-Likelihood: -1579.1
No. Observations: 146  AIC: 3162.
Df Residuals: 138 BIC: 3168.
Df Model: 1
Covariance Type: nonrobust

coef std err t P>|t]| [0.025 9.975]
Intercept 1.031e+05 2322.592 44,381 0.000 9.85e+04 1.08e+05
2@(? -2892.3862 3261.428 -0.887 0377 -9341.220 3556.447
Omnibus: 11.367 Durbin-Watson: 0.010
Prob(Omnibus): ©.083 Jarque-Bera (JB): 12.606
Skew: ©.730  Prob(3JB): 0.00183
Kurtosis: 2.824 Cond. No. 2.64

SEIE. BOERET "RE), HALTEKET EY, t LT, BERESTZI1T-> &R,
y=1.031e+045 + (-2892.4) * i
Y\ ERRNE SN,

*Python 277+ (EEBHH : KEIT LEFR
MEORETI LERFHRZHPER L LT, ERBEOWT %,

formula=":RE ~ KZT&X + H£EFEHK
model4 = smf.ols(formula, data=data)
resultd = model4.fit()

print(result4.summary())




*HAKR

OLS Regression Results

Dep. Variable: K&  R-squared: 0.756
Model: OLS Adj. R-squared: 9.752
Method: Least Squares  F-statistic: 212.3
Date: Tue, 19 Dec 2023 Prob (F-statistic): 1.07e-42
Time: 02:00:50 Log-Likelihood: -1480.7
No. Observations: 140 AIC: 2967.
Df Residuals: 137 BIC: 2976.
Df Model: 2
Covariance Type: nonrobust

coef std err it P>t [0.025 9.975]
Intercept 4.552e+04 2915:.615 15.613 0.000 3.98e+04 5.13e+04
KX X 2402.2011 121.520 19.768 0.000 2161.903 2642.499
REH -892.4534 171.086 -5.216 ©.000 -1230.765 -554.142
Omnibus: 6.066 Durbin-Watson: 1.469
Prob(Omnibus): ©.048 Jarque-Bera (3JB): 8.993
Skew: 0.137 Prob(3JB): 0.0111
Kurtosis: 4.211 Cond. No. 107.

SEIZ. BERY "RE). HPAZKE "TKET) r TEER LT ERRESITE
1T- =R,

y=4.552e+04 + 2402.2* K%< + (-892.5) * &K
AN NCIL - F- W A I (A

BEOKREIIIGT EIGHRBIIEFROBETCERRBONOETILLIIRG 5, £F
BORBRENETHEZ2 D6, ALAITIRLBVWIIERENLZLS RS Z L HH 5,
Fre. WITHNDOHEDEFEL RS DICARETH S, REMREIL0.752 t ETIL | &
WREW, YOEFHOEH LT 15%NZDETILTHBETETVSZ LAHH 5,

H. RATBOENRLG 215613 REGE TR, BHERAEFTRERBETHERT
LZYHNEF L\,

10



* [# 2 Scikit-learn ®3%4] Python » X7 ') 7"k (EEIR)

# scikit-learn =4 »R—k
from sklearn.linear_model import LinearRegression

# HBATHE BNZHORTE
x = data[['AK & x']]
y = data[[[RE']]

model = LinearRegression()
model.fit (x,y)

# RAEM DRI E HH

print(‘coefficient = ', model.coef )
ERNERT
# YR AHS (BBLEREIBETS)

print('intercept = ', model.intercept_)

* AR
coefficient = [[2075.14548924]]
intercept = [45791.44348218]

11



(4) EVREROEH (BAHEHICEREMREFI<ISIE?)
* Python ® X7 ') 7 b+

# MHARICEREREZEIK 747V

import seaborn as sns

sns.Implot(x="K & &', y="RE", data=data, fit_reg=True, height=7, —
line_kws={'linewidth":1, 'color':'red'}) e, { | TTRITALTS ]
ERERDEE
BOEE

RIS, BARCERERETEAD L, B TREY, M "KE) THY. FDE
BOENRER T EVRBIIEREREEZRL TV, AT (BR) VAT RB DI,
KEHN LY > TV 5,

*HAKR
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100000 4

80000 A

20 30 40 50 60
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12



(4)@ 'Fﬁu/Lﬁ\‘fljJ
* Python ® X7 ') 7 b+

# Imdiag TElJmE2MT
import Imdiag

plt.figure(figsize=(7, 7))
Imdiag.plot(resultl)

RiZIC. BRBMEERELE (EARRSR). L0 RENQ-Q 7Oy by p 5,
SENHKRIIMOERDIGETHELELONS, fhh. ETD "L-R 7w by T,
Cook DEEEEH 0.5 2 BA 5L D0 H 578 (132F). MEBEY L THBESHLTH L
Wiy L,

* AR ERDET

Residual vs. Fitted Normal Q-Q
g23d33
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1.75 g23333 a2 18 £
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o RS

()iris =9ty FEAWAEERTS GBETEEEAD)
(B RUT O THWS iris T— 4% v bld, Python @ Tscikit-learn ZH
BEINTWw3,)

* Python X 7') 7" b

import pandas as pd
import seaborn as sns

#iris T—&4L v b DFEHIAA
from sklearn.datasets import load_iris

iris = load_iris()

# B NITY ORE
df = pd.DataFrame(iris.data, columns=iris.feature_names)
df['species'] = iris.target_namesliris.target]

#IERTEEERD
g = sns.pairplot(df, hue = 'species')
g._legend.removel()
g.fig.legend(
handles = g._legend_data.values(),
labels = g._legend_data.keys(),
loc = 'lower center’, ncol = 3,
title = 'species')
g.fig.subplots_adjust(bottom = 0.12)

14
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species
® setosa ® versicolor ® virginica

iris 7—% € v bIL,

sepal length (7 DKY)

sepal width (47 O18)

petal length (FEANDKY)

petal width (FED1@)
YW 4 DORBMERED 3 RN T VY ADIE (Setosa. Versicolour, Virginica) 75
BMENTWS, TNTNORKE FEE) 09BN EDL ) ICEREL TV 200 e THLET
%7-8%. Python @ Tseaborny 4 75 %A L. BHARTI 2R L (HAERS
B, b, WAKRD Tiris 7 — 9 EAWVEBAHERITIL TR, iris7T—9 Y bomiEz
X3¢ % 7=, speciescolumn T&% 7% LT\ %, setosa (F) ItEnfELLERNTAH 7
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LIEAOHELAIKELRBZZ b0 Y (DB RV Z X0 0D %, — 7. versicolor (18)
¥ virginica (%) DD EEIZCREBRIZR 5> TV 5,

(2)iris T—9 v b ERWEERHFISH (Linear Discriminant Analysis)
* Python X 7') 7" b

import matplotlib.pyplot as plt

# AAART — R iris FoAaAH
from sklearn.datasets import load_iris

# B (Linear Discriminant Analysis) #1795
from sklearn.discriminant_analysis import LinearDiscriminantAnalysis

iris = datasets.load_iris()

X = iris.data
y = iris.target
target_names = iris.target_names

Ida = LinearDiscriminantAnalysis(n_components=2)
X_r = Ida.fit(X, y).transform(X)

plt.figure()
colors = ["navy", "turquoise”, "darkorange"]
for color, i, target_name in zip(colors, [0, 1, 2], target_names):
plt.scatter(
X_rly ==1i, 0], X_rly ==1i, 1], alpha=0.8, color=color, label=target_name

plt.legend(loc="best", shadow=False, scatterpoints=1)
plt.xlabel('LDA1")

plt.ylabel('LDA2")

plt.title("LDA of IRIS dataset")

plt.show()

2 2 Tldiiris 7— 49t v b % Python o scikit-learn; ® MLinearDiscriminantAnalsyis,
B ERAVCTHRRT Lz, HAKRG S, irisT—9EY FAD 3 DORLZZEHIED
BE. 2BINTVEIEREIT E2I e TEL, L LD S5, Tversicolory &

Fvirginicay |SEEEEASEVD TTHIBI SN S EEEMLH B,

16



* HAKER  BEHB 24 (Linear Discriminant Analysis)

LDA of IRIS dataset

LDA2

o
o
[ ]

o
-1 o ©
o ©° o
® [ J
o0
-2 @ setosa
versicolor
virginica PY

-10.0 -7.5 -5.0 -2.5 0.0 2.5 5.0 7.5 10.0
LDA1

@ H. Python 3R EER Y AP OMER T BB TERTRT HEEN R W0, LB
IKRCTUTOEIICFEBTRI Y T EERT 52 L0 KD SN B, SEDBHEFIFX
IATNRY TH 5,

z=0.83x,+ 1.53x, - 2.20x;3 - 2.81x, - 4.38
z DEBICLYHRNT ZZ ehagEr b (SEISER),

* Python ® X7 ') 7" b+

import numpy as np
print('tR%4’, Ida.scalings_)
# 7 —T O ERBOBAEE OFHID ELHIE

cv = np.mean(np.dot(lda.means_, Ida.scalings_))
print('FEZLME', cv)

*HAKR

&% [[ 0.82937764 -0.02410215)]
[ 1.53447307 -2.16452123]
[-2.20121166 0.93192121]
[-2.81046031 -2.83918785]]

EHE -4.383289492902386

17




o A1 (PCA)
(Diris F— 9 v k& BV ERD DM
* Python » X7 ') 7" b

from __future__ import division

import matplotlib.pyplot as plt

import pandas as pd

import numpy as np

from sklearn.decomposition import PCA
from sklearn.datasets import load_iris

# HAIAIRT — K iris FoAIAH
from sklearn.datasets import load_iris

iris = load_iris()
X = iris.data
Y = iris.target

# LR
X_scaled = (X-X.mean())/X.std()

# PCA

pca = PCA()

pca.fit(X_scaled)

reduced_iris = pca.fit_transform(X_scaled)

colors = ["navy", "turquoise", "darkorange"]

# BEELI-V 7 A %R
uniqueY = pd.unique(Y)
for iin range(len(uniqueY)):
Yi = uniqueY[i]
color = colorsli]
plt.scatter(reduced iris[np.where(Y == Yi),0], reduced_iris[np.where(Y == Yi),1],c =
color)
plt.xlabel('PC1")
plt.ylabel('PC2")
plt.title("PCA of IRIS dataset")

plt.show()

iris 7 — 4w hIDWT, Python ® Tsklearn.decomposition; % B\ TERS O
(PCA) 2Lz, ARG, HEHIE—TRD. MEHIE—TRYTH 5.

18



* HAKR IR OHER

PCA of IRIS dataset

®
0.6 - ®
]
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o~ . ."O
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®%e
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-1.5 -1.0 -05 0.0 0.5 1.0 1.5 2.0
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RIS BERDNDEFER Y ZBEER L RDE7D. UTOLH IZEBMOR ) T h %
%'ﬁtl/f:o

* Python ® X7 ') 7 b

# NumPy o ndarray 7' = 7 k % pandas @ DataFrame # 7> = 7 M ZE ¥
iris_df = pd.DataFrame(iris.data, columns=iris.feature_names)
X_scaled pd = pd.DataFrame(X_scaled)

# HEXRZRKD B

pca_col = ["PC{}".format(x + 1) for x in range(len(X_scaled pd.columns))]

df con_ratio = pd.DataFrame([pca.explained_variance ratio ], columns = pca_col)
print(df_con_ratio.head())

# REFEEXEKRT S

cum_con_ratio = np.hstack([0, pca.explained_variance_ratio_]).cumsum()
plt.plot(cum_con_ratio, 'D-")

plt.xlabel('components')

plt.ylabel('cumulative explained variance')

plt.show()

19



*HAKR AT SE
PCI PC2 PC3 PC4
0O 0.924619 0.053066 0.017103 0.005212

1.0 1 &

o o o

rY o ®
&
<

cumulative explained variance

o
N

0.0 A

0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0
components

EROEARERN S, BE—EXKDIE 92.5%. F_FERDIE 5.3% ThHh-7, 2F Y. &
—ERDECE_EFRDETTIT.BNNERNMATE TS, TLICRBEEFSRE Oy
PLTHERLE (B 6 28), —MRe9ICIid, BEFSHRI S0BNUEIIR 2 ERD B LKA
LTIOMBRICAVWSEZ LS WVWED, E=ZIRIBLVEREIRD ITHIFR L THRHEIR
INEWYEEZ B,

(BERDIHT 2BRBOEEES ) KD B | EXDEE
2ERADERDEREET 7Oy b LAEBBREZMERL 7,

20



* Python ® X7 ') 7 b+

# IO BHEEZRDS

df_pca = pd.DataFrame(reduced_iris, columns = pca_col)

df_pca_vec = pd.DataFrame(pca.components_, columns=iris_df.columns,
index=["PC{}".format(x + 1) for X

range(len(df_pca.columns))])

print(df_pca_vec)

# T BHEZRRT 5

plt.figure()

for x, y, name in zip(pca.components_[0], pca.components_[1], iris_df.columns[0:]):
plt.text(x, y, name)

plt.scatter(pca.components_[0], pca.components_[1])

plt.xlabel("PC1")

plt.ylabel("PC2")

plt.show()
*EAHRER
sepal length (cm) sepal width (cm) petal length (cm) petal width (cm)
PCI 0.361387 -0.084523 0.856671 0.358289
PC2 0.656589 0.730161 -0.173373 -0.075481
PC3 -0.582030 0.59791 1 0.076236 0.545831
PC4 -0.315487 0.319723 0.479839 -0.753657

*HARR IR BATEOBHE

éepal width (cm)
éepal length (cm)
0.6
0.4
o~
4
0.2 1
0.0 1
detal width (cm)
#etpl length (cm)
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EAHERDP S, B—EXDICH L TERDTAFENKRETVWIEABIE Tpetal length (cm),
THBZ2ehbh -, BEZEFRDIIHLTERDEATENATWIEBIX, Tsepal width
(cm)s ¥ Tsepal length (cm)y T#H %,
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o REFHH
(Diris 7= 8 £y 20T, BFHRORE (BHEDHE)
* Python X 7') 7" b

# 2477 )DAKR—=F

import numpy as np

import pandas as pd

import matplotlib.pyplot as plt

import japanize_matplotlib

%matplotlib inline

from factor_analyzer import FactorAnalyzer

# T—2ty FEAIAH
iris = load_iris()
iris_df = pd.DataFrame(iris.data, columns=iris.feature_names)

# 1E44L
df_workers_std = iris_df.apply(lambda x: (x-x.mean())/x.std(), axis=0)

# EEEZKRD S
ei = np.linalg.eigvals(iris_df.corr())
print(ei)

*HAKR
[2.91849782 0.91403047 0.14675688 0.0207 1484]

CITIRBAFBERET 5010 RARAALRAZEROBETIIOEREE KD, 5
EIEFEE 2T 5,

(Q)AFoH (£7) I > EER) DEHE

Python o iris 7— %t v MI2WT, Python ® TFactorAnalyzer; ¥ AW THEF%
(A7 IVEE) tR L. SEIE. BFHRIE 2, #oEERAEIA T I VITREL
7=,
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* Python ® X7 ') 7 b+

# HFo4 (oblimin) DFEIT
fa = FactorAnalyzer(n_factors=2, rotation="oblimin")
fa.fit(df _workers_std)

# RFafFs, Hak

loadings_df = pd.DataFrame(fa.loadings_, columns=["% 1 ®KF", "5 2 AF"])
loadings_df.index = iris_df.columns

loadings_df["#3@M4"] = fa.get communalities()

print(loadings_df)

# AFBEmE0_FMN, F5K RBEFEX
var = fa.get factor variance()
df var = pd.DataFrame(list(zip(var[0], var[1], var[2])),
index=["% 1 ®R¥", "% 2 AF"],
columns=["RFBEHEDN _FEM", "F5X" "REBEFES5X"])
print(df_var.T)

#4770y bOEXN

score = fa.transform(df_workers_std)

coeff = fa.loadings_.T

fal=0

faz =1

labels = iris_df.columns

annotations = iris_df.index

xs = score[:, fal]

ys = score[:, fa2]

n = score.shape[1]

scalex = 1.0 / (xs.max() - xs.min())

scaley = 1.0 / (ys.max() - ys.min())

X = xs * scalex

Y =ys * scaley

for i, label in enumerate(annotations):
plt.annotate(label, (X[i], Y[il))

for j in range(coeff.shape[1]):
plt.arrow(0, 0, coeff[fal, j], coeff[fa2, jl, color='"r", alpha=0.5,

head width=0.03, head length=0.015)
plt.text(coeff[fal, j] * 1.15, coeff[fa2, j] * 1.15, labels[j], color="r",
ha='center', va='center')

pltxlim(-1, 1)

pltylim(-1, 1)

plt.xlabel("% 1 RF")

plt.ylabel("2 2 BF")

plt.grid()

plt.show()
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* AR

% RF E2RF A
sepal length (cm) 0.939580 0.181840 0.915876
sepal width (cm) -0.018438 0.991866 0.984139
petal length (cm) 0.962714 -0.119362 0.941066
petal width (cm)  0.925447 -0.074021 0.861932

B RT E2HF
RFafmEn—Kf 2.666422 1.03659|
BFH5% 0.666605 0.259148
REE5£ 0.666605 0.925753

*HAKR M Toy b

sepal width (cm)

1.00

0.75 A1

0.50 -

0.25 A

0.00 -

B2ET
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| piditt
Bl engt em)
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BIET
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1.00

HAFA2HOFER LT, BFEARECHBERELAEL. HAHLE (HHERER)., BF
BEEE. REFICEABEEIRVEBIZCENRELSRY -1 25 | ODEEZERS, $—
K F L. Tsepal length (cm), Mpetal length (cm), petal width (cm)y DER%E %<&
ATWS, E_RFIL "sepal width (cm); DEFEAFTEHNHKRD KE W7/, Tsepal width

(cm)s YEIEMASECEF L EA LN,
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T, HBUHRIBZEROF ODBERIVAEAFETLICENEFTRBEBINTVWSEA2ERLTH
Y. SEIIRHBEOEN GV ZH, BFETILICERIRBRINT WS LHEINS,

RIS EAFOMTEHELAZRAFICHL T, FERCEBRETFSRERD. E—RFOE
(T 66.66%, E_ERFNEFEERIZ25.91%THY. @b TI2.57%TH- .

REIC. B—RT*HEMICE_RF2MEIC LN/ 7Oy bEEKLE, N1 Ty b
3. BRAFORFAFRENNI bLRRZERAFHERETOy bLEARTHS, /N4 Ty b
"5, E—RFICRAEE?H 2 EEIL Tsepal length (cm)y Tpetal length (cm)y Mpetal
width (cm)) TH 3 Z tHhHh 5,
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o JSRI—4th
(hiris T—g v MW T, BFRORE (BRENHE)

SEIEL, irisT—F €y FIDWT, Python I2L 2 EMEER 7 5 X9 — 447 (k-means
%) R AT

iris 7= v M3, 4 DOFHPEREE > TV S, TTRT—IDREET MBI,
Fsepal length (cm), %%, sepal width (cm), %#tshIcH W TEAR % ERR L 7=,

* Python ® X7 ') 7 b

# 2477 )DAKR—=F
import pandas as pd
from sklearn.datasets import load_iris

# T — & %FH pandas @ DataFrame %[ Z5#a
iris = load_iris()

# DataFrame (CZ#h
df = pd.DataFrame(iris.data, columns=iris.feature_names)
df['label'] = iris.target_namesliris.target]

rgb = np.array(['r','g','b'])

# <R ORSE, BTBHREZ 70y b

plt.scatter(df['sepal length (cm)'], df['sepal width (cm)']l,c= rgbliris.target])
plt.title("Bif X ( sepal )

plt.xlabel('sepal length (cm)")

plt.ylabel('sepal width (cm)')

plt.show()

*HAKR AR (sepal )
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e\ T, petal length (cm)y % 4%, "petal width (cm)) % #éhICER R % 7EA L 72,

* Python ® X7 ') 7 b+

# LOLORE, BTEHARZ 70y b

plt.scatter(df['petal length (cm)'], df['petal width (cm)'],c= rgbliris.target])
plt.title("Be# [ ( petal ))

plt.xlabel('petal length (cm)")

plt.ylabel('petal width (cm)")

plt.show()

* WAKER  EHEE (petal )
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* Python ® X7 ') 7 b+

# TR —RICEDREL Y 7 AXBDORE
from sklearn.cluster import KMeans

from sklearn import preprocessing

import matplotlib.pyplot as plt

# T — R EIZHEAL

df_ss = df.copy()

ss = preprocessing.StandardScaler()

df_ss.iloc[:, :4] = ss.fit_transform(df_ss.iloc[;, :4].values)

sse_dict = {}
for n_cluster in range(1, 11):
# RTA—ZEERFEE
kmeans = KMeans(n_clusters=n_cluster, random_state=0)
kmeans.fit(df_ss.iloc[;, :4].values)
# sse HEVS
sse_dict[n_cluster] = kmeans.inertia_

#sse &7 7 7ITHE

fig, ax = plt.subplots(1, 1)

ax.plot(sse_dict.keys(), sse_dict.values(), marker='o0")
ax.set_xlabel("n_cluster")

ax.set_ylabel("SSE")

fig.show()

* AR IS RIBT D SSE (75X INEBEFHF)

600 A

400 4

SSE

200 A

100 A

2 4 6 8 10
n_cluster

HARER: 7T RIBT LD SSE (7 5 RIARBEFAHF) 55, n_clouster (75X %
)53 UM, SSE(7 5 R IARBET L) DFEPHBRNIR>THEY S ED k-means
FETHERTARER I TRIEIE 3 vHer L7,

FWT, 75 298% 3 LBREL. k-means EE*AWVWT ISR — i EERTL I
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* Python ® X7 ') 7 b+

# k-means

n_cluster = 3

kmeans = KMeans(n_clusters=n_cluster, random_state=0)
kmeans.fit(df_ss.iloc[:, :4].values)

# IZEEALFIO df (T cluster T ~NJLZ BN

df['cluster'] = kmeans.labels_

*HARR > "L

ISR9)>T7%. 7RI TIERLET— 9 0HEE GBAEE 0oHht 77X
I TCIHERT B, R7 7Oy FEMERL .

* Python ® X7 ') 7 b+

import seaborn as sns

# BT AXDFHE DN & HER

Aic

sns.pairplot(df, hue='cluster').savefig('pairplot.png")
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* Python ® X7 ') 7" b

cluster

N -

# KV TRIDEHE DD M EHER
sns.pairplot(df, hue='label').savefig('pairplot_label.png")
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* HAKR EEZ o7 ay b
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o HE(ER
(irisT—%€v oW T, BFHRNRE (BRENH)

SEIR, BREHBNT—9 (10 AORE) 2{#ERAL T. Python ® "mca (Multiple
Correspondence Analysis)y 54 75 ) #AWAEIL AR T IAoHERAE, b,
csv 77 A LDFRAALDIR, HAGXFI—FITHRTESLIICLE,

Xesv 77AILDOABIE. UTD THHAHR, 28BL TLEIW,

* Python X 7') 7" b

# 2477 )DAKR—=F
import mca

import matplotlib.pyplot as plt
import pandas as pd

import chardet

import japanize_matplotlib
%matplotlib inline

#CSV 7 7 A LD E IR H

with open("like.csv", 'rb') as f:
binary = f.read()

d = chardet.detect(binary)

if d["encoding"] == "utf-8":
enco = "utf-8"

elif d["encoding"] == "UTF-8-SIG":
enco = "utf_8_sig"

else:

enco = "SHIFT-JIS"
df = pd.read_table("like.csv", encoding=enco, sep=",, index_col=0, header=0)
df
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*HAKR
EE #& HE& #EH  EX KT #®RF

E1E

I I 0 0 I 0 I 0
2 0 0 [ 0 I I 0
3 I 0 0 0 0 0 I
4 I I [ I 0 0 0
5 0 I 0 0 0 0 I
6 0 0 0 I I I 0
7 0 0 [ I I 0 0
8 I I 0 I 0 0 I
9 0 0 [ 0 0 I I
10 I I [ I 0 0 0

EROEAER?S csv 77 AMILOABEELLHEABNTVWEZ N TELEDT, K
lZmac 54 75D MACHEEZERALTIALRAR> T AWM EERL -,

* Python X 7') 7" b

# AL ARV T VAN DORELT

mca_counts = mca.MCA(df, benzecri=False)
rows = mca_counts.fs_r(N=2)

cols = mca_counts.fs_c(N=2)

# B OIERERTE

plt.scatter(rows(:, 0], rows[:, 1], c='b', marker='0")

labels = df.index

for label, x, y in zip(labels, rows[:, 0], rows[:, 1]):
plt.annotate(label, xy=(x, y))

plt.scatter(cols[:, 0], cols[:, 1], c='r', marker="x")

labels = df.columns

for label, x, y in zip(labels, cols[:, 0], cols[:, 1]):
plt.annotate(label, xy=(x, y))

# xy D FRIR
plt.axhline(0, color='gray')
plt.axvline(0, color='gray')

# B OREE
plt.show()
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* AR AL AR T ADHER
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HEARBRTIE, FVEFEBES THRIBBLZ L L > TWS, 75 7 DhRICHEE X Hitdn O
FRRTSTFEDNRET WML, 2FH T, PROSBEEINZIICHEHOT, 7’0y b INFAL
BEAEWVIZY, HEMOBEMENRNZ L EEKRL TV 5,

REICERBECFSRERERAL

* Python ® X7 ') 7" b+

# BEEEDOHER
print(mca_counts.L)

#2EWTOFEEX
print(mca_counts.L[0]+mca_counts.L[1])

*HAKR
[0.56125992 0.27930632 0.19680168 0.12538374 0.091 14991 0.02943177]
0.8405662356601 173

2EWMTHHEERIL 84. 1%L 2 DNMNFEXR G LAERBTSENN 80N ERBA TS
NT, TT—IIDRBEIILLENBVLEE LS,
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